Gravssian )?é‘a}f"' s:

9keicf7 a/ s tfhaid - - @Cz-fy‘})/,w

)’/f‘tsm/‘pﬂféﬁyw’ % i;"’f{/»“’f_jofg_ Ayﬁwsa/;[:

» -l (L g Ak +.z;_.(_{§u.chr. AN
Uy, 2 =4 Eo € (e (% B ;/X,f’ir

__j%

So this o o FiT. o o Gavsqun Lcomplin) which will SA‘;’

Gﬁv‘:}' 17 itk Sv“'u; Pt

a[t[fn{ ”a{ ;745 s vaetes

‘+¢k;xﬁ“/2»+_\:f4_}

f
erth L2 /"l A . \ Svath %eamm
GC \ W: € ) +/IW‘6 cwnv-an‘hrn

T
P

3 Xy, F) =, = e A%, 4y,
)

f)l\ wi Treat tog bino o8 2 Gavsbian wirh ag efvecfrve 5,20

T

\0/9;\,; =2

-{)

>

[ ' 3 ‘C " : : 5 l
+h£lq 2% /(576’0/ ‘?V-ﬁ/fiﬂ'}'ii’u"s, fsz FT 5 ‘;\\4‘/7414% { _\.??*V};{G}‘v!

¢ .. 1
,,‘;[F-n A % {x T \e N
= EO g e 3&‘1&’9%&4 Foren,




[rawt ]

Eﬂo;/ PO/"/’H v
KBt
L/(b(}‘?/:%ﬁ - “i{? f’ —Tm—z 6 f’ >4 ¢
W
—
YN s = Lt
with (RN 2 W1t /z';\) Z L,
R(?—‘B Bt / | + ﬁ\ - ]?“7/4591; }Q'?;ﬂ»
\ 2t/
) = tan[ T
\ %/
I = .__l..-\ — A FIL\
a R vy
q_: Ag, + B
‘:{, i 13
o (Z) /
L
|-
[
. i
“\Jé%) %__\ “ . i
} M
) ;
'/F’f"«ﬁ' I P ——




P = Guoy passe shilY

E
-2g l/m__
I

=1

Phnsd adnncty gacngs Gethst cucya Fere Changes §ige
] ’




ffﬂcue-;:w;___ﬁ Gavssmg ptron

vy = ol1S 1w sree JKWMG_JL___

+ £ jigeneas|

Flad 2., (dut to e
LI
civide egutions: £ _ 2w (14 TR/
; - Zp, Lo (1 + 2w/ e >
ler X. = 2, D b T Y Xy Lt e
X‘,‘ > .T_D/‘\Z_E'. ___f_‘fi/_{r_‘._—.
o )“l”X??‘} X'z Xz(;x'z *(ﬁ
= fg, = g, ] 2
= iz
- 7D P/c a/\ d//\ﬂﬁcﬁm -



I ealevdate bepoed opot size

.
oW B Wy 5

I+ 0 fpe S

when 2, /;\ Y7 | difFonctn, does ﬂi*g_z‘f”-:%fé

Wop = wouf e o £TN |

Ve T w1 T

L mthe it g 77 P
W Ao Seabe s Jo 5

| : T W L o))

S | Y. Iy _ Fen womber of Frevgin }_WEW‘P/#’_
S LT '

L iy is ikt o et by Dby focivy Lonsbyrrn 28 fapif Gussina




G‘H WGy g5 l"éﬁ e exlf‘d":f{

S#’nﬂ‘f’ wr“}‘-’q f/&am wh G Y i n“r&f’jc, i 'PWCI)-‘;- V‘/ }é.ﬂf,- ;..~> W‘;*VIL -

W, *’iﬁ

! - .

F<G e i“ff‘.'."“'fmzl . ‘F) Xﬁd R |

| ( Find 2, Hv haye »
Z .,

. weabt af 2
e W’Fiy‘? N @av%rm Bgsn, /}‘f‘mvﬁ 6

ABCD
L avs %4 4n '}7@5}54,: , = ""*";—-:—-——l R
_at heas i v s WV x B o

I
. R‘l - R-\ P , . B*e R&p
= -qu( |+ ?'Eﬁ; ,)
e

va(1¢%&%>
7 F\,z.,,

alter lens W o= Iw’

iu:
¢

<
O



AB&P m;‘;#woj:
97#%; matey (

(1—?%\\?, - 2+ 2l

iy e e

__‘{r/{\

e s,

S “%’/_P



